i£%ddd9 1°Pon I

( wod dwie)oeSs) mmm: EEEL A4 +2XaV) )

171

@ HEE 44T

o LiZ=m\IMEhELII

Model CPDP

MAMRR RS
FERHERI TV R R 25

R oA

® EEMTRAZIA

Sk EHFEH3MIN
oy NI R 3vir = 8

ThiwHP

Tim AR T

v, W

TR MELM

e 0= 19—

® fCETE

CPDPEIPIEZFEER N ELEMGIENELE
2MBECE T R RAGRYEER, BiF T
GERLIE SR, (RAGENEENAEHT
OZE, M AR EEHEITEE.)

BERNEE

G BaEsk

WEhEY 7MPa

EEERELE

SHETEEAR AR
12, TS RE
T FE (600HV) BA &
A Ao

MEEH

ERERECER,
B LRI
i (EM ) , AT IR
B EREE, A0
LR s EAOE]
TEptko

IR
model VFRP

EIHHE
SREMW

AR

GRRYECE

BERT
CPDP 06 71 P
EE=ZHNEHE &L
aa=) 17%2(mm) i0s ThimAZ AR
02 10 15 20 30 |40 50 |60 70 P Ths 5
04 10 15 20 30 [40//50/ 60! [70 FAE
06 11015 20 30 40 50 60 70 |80 |90 - TR B4y r
10 1o 20 30 40 50 60 (70 80 90 [100 A [
16 10 20 30 40 50 60 70 80 90 /100 M TR SMB LY
25 20 /30 40 50 60 70 /80 /90 /100 110 S
i D PRITHRES R,
= En i AE
i = CPDP02 CPDP04 CPDPO6 CPDP10
# (kN) 3.4 49 6.7 10.6
JHELEES] %1
I (kN) 2.0 3.2 4.0 7.2
R 3 F=0.49XP F=0.71XP F=0.96XP F=1.52XP
SHELRE
TEAT %2
I F=0.29XP F=0.45XP F=0.57TXP F=1.03XP
SHELATE (mm) 25 30 35 44
FHE (mm) 16 18 22 25
# (cm2) 49 7.1 9.6 15.2
SRELEFR
HI (cm?) 2.9 4.5 5.7 10.3
BAME (L/min) 1.0 1.6 2.1 5.0
REB 2R XEHFE %3 (N-m) 7 7 11 25

FERHETEE: 1~7 MPa ~ {RIEfitE: 10.5 MPa / ERIMERE :0~70°C / FAMA: &

[Eh (FBZFISO-VG32)

%1 SHENT MPaBYRIBE (B,

%2 :F=3hEIREST (KN), P={EHE (MPa)o
%3 LIIR AR EER 129,

(B2 wepR )

) A

7z
1c Y
=5

E LA

CPDP16 CPDP25
17.2 26.9
12.3 20.0

F=2.46XP F=3.85XP

F=1.76XP F=2.86XP

56 70
30 35
24.6 385
176 28.6
8.4 10.5
49 60
B YIRER

i2dadD PPN D

(M
Q
=
O
®
_+¥
)
i
i
o
s
s
=
@
a
vy
3
O
8
3

/




HEEZET

SMERSTE
/ —
CPDP 02/04/06/10/16/25 1712 P
1 AA
ol
g RS oT1
o
. 03 5 S
o MR HMBEROY =
v . (ERAERE) (GENEE) i 2-Max. gBC
= 53
n GELUEL (%) P H7 oH f7 & (BBAEE)
N z ,
. i L ZER ,
[ B =)
U E B[ e T i g
") -
N g EI < *
2 far
>y
\ai 4-oW HEEEDY 5 © K
— Z7LoX (CRIACE) - M2 R3 4-BB
R3 CREEL () oaE g '
e N '
E b ey FE = REEORAREEREITERZ.3 LT,
C Z(EARHE)
2Gs.
AARITLE REFINTE
(mm)
CPDP02-[P CPDP04-[IP CPDP06-LIP CPDP10-CIP CPDP16-CIP
B 45 50 57 70 86 108
c 56 60 66 82 96 120
D 335 35 375 47 53 66
E 25 25 28.5 35 43 54
M) F 35 40 46 56 68 88
- G 39 47 53 63 78 100
:‘5 H 16 Zoo 18 25 M) S 2 e 30 5o B
3 L 275 28 30 375 415 485
j M 10 105 12,5 135 145 18
it N 5 6 8 9 1 13
‘u'l‘#m P 6 +2 012 6 +80)2 8 +8NS 10 +gms 12 +€ 018 14 +gﬂlﬂ
ko Q 2 25 25 25 25 2
A R1 125 125 125 14 14 21
E R2 2 24 28 36 45 50
s R3 25 28 30.5 36 42 57
& R4 20 2 26 30 38 50
2 s 6.5 7 9 10 108 145
g B 124022 14+0.2 16+0.2 18+0.2 22402 26+0.2
S 2 5 5 6 8 10 14
8 U 6 6 11 14 16
3 v 18 17 17 20 20 20
\_/ w 55 55 6.8 9 11 14
X 9.5 9.5 1 14 175 20
y G1/8 G1/8 G1/8 G1/4 G1/4 G3/8
z 3.8 3.8 3.8 438 438 4.8
pal R3 R5 RS R6 R7 R10
2 14 14 14 19 19 2
foil:] P7 P7 P7 P8 P8 P10
BA 40 48 54 64 79 101
BB M5 M5 M6 M8 M10 M12
BC 4 4 4 6 6 8

173 A L AR RERL, /2. I BHEEEASA5(HRC27TLLE).

(B2 wepR )

HERER L E

o 5 ] 20 J 30 | 4 ] o0 ] 60 ] 70 ]

CPDP02- 1712

e T (CM3) 4.9 7.4 9.8 14.7 19.6 24.5 294 343
THELAE N

I (cm?) 259) 43 5.8 8.7 11.6 14.5 17.4 20.3
A (mm) 70.5 85.5 105.5 125.5
J (mm) 555 70.5 90.5 110.5
K (mm) 28 43 63 83
B & PTusHEke) 0.7 0.8 1.0 0.9 11

[ ceoposfgiz ] 10 | 15 ] 20 J 30 ] 40 ] s ] 6 ]| 70 ]

TR # (cm?) 7.1 10.6 141 21.2 283 35.3 42.4 49.5
I (cmd) 4.5 6.8 9.0 13.6 18.1 226 27.1 31.7

A (mm) 755 90.5 110.5 130.5

J (mm) 59 74 94 114

K (mm) 31 46 66 86

B & PTuskke) 0.9 11 1.3 1.5

[ cpoposfsiz ] 10 ] a5 20 f 30 ] 40 ] 0 ] 60 ] 70 | 8 | 90 ]

TR # (cm?) 9.6 14.4 19.2 28.9 38.5 48.1 57.7 67.3 77.0 86.6
I (cm3) 5,1 8.5 11.4 17.0 22.7 28.4 34.1 39.8 45.4 5l

A (mm) 82 97 117 137 157

J (mm) 61.5 76.5 96.5 116.5 136.5

K (mm) S5 46.5 66.5 86.5 106.5

B & PTuskHEke) 1.2 1.4 17 1.9 2.2

[ cpopro-f3i2 ] 10 J 20 | 30 ] 40 J so ] 60 | 70 J 8 | 90 ] 100 ]

A # (cm?) 15.2 30.4 45.6 60.8 76.0 91.2 106.4 121.6 136.8 152.1
I (cm3) 10.3 20.6 30.9 41.2 SIS 61.8 72.1 82.4 92.7 103.0

A (mm) 97.5 117.5 137.5 157.5 177.5

J (mm) 75 95 115 135 155

K (mm) SIiES) 515 1.5 97.5 117.5

B 2 Puskke) 2.1 2.4 2.7 34l 3.4

[ cpopiefriz ] 10 J 20 | 30 | 40 J 5o ] 60 | 70 J 8 | 90 ] 100 ]

A # (cm?) 24.6 49.3 819 98.5 123.2 147.8 172.4 197.0 221.7 246.3
I (cm?) 17.6 35.1 52.7 70.2 87.8 105.4 122.9 140.5 158.1 175.6

A (mm) 106 126 146 166 186

J (mm) 80.5 100.5 120.5 140.5 160.5

K (mm) 39 59 79 99 119

B 2 Puskke) 33 3.8 43 4.7 52

[ cpoposfsiz ] 20 ] 30 f 40 J so ] 60 ] 70 ] 80 ] o0 | 100 | 110 ]

SHETAR # (cm?) 77.0 1155 5819 1924 230.9 269.4 307.9 346.4 384.8 4233
I (cm?) 5122 85.8 114.3 142.9 171.5 200.1 228.7 25513} 285.9 314.5

A (mm) 129.5 149.5 169.5 189.5 209.5

J (mm) 98.5 118.5 138.5 158.5 178.5

K (mm) 50 70 90 110 130

B & PskHke) 6.3 7.1 7.9 8.6 9.5 9.4

i£2dddO 1°PoN D

M
Q)
>
O
®
_'.;
)
i
i
o
A
=
=
=
D
[0}
QU
oF
QU
3
O
[a]
]
3

Y




ik%dddD 1°PoN D

( woodwepedeymmm: EEL B HAAVD )

175

HEESET

&
&
A
ol
3]

-------------------- CPDP 02/04/06/10/16/25 —— 171 T
L AB
oT
N
| o —
i) I ’JI/. o g
+
— W
T HABE t) o ELTMEREEL,
1 v} =]
7 2. ATURIBHMAMERRTIESR
i ; CPDPLI-IPEL TR SEHE
— R o !
& !
i g
i
ABRITLE
(mm)
[ ms | cppbpo2-OIT CPDP04-CIT CPDPO6-CIT CPDP10-CIT CPDP16-CIT CPDP25-1T
M 10.5 115 125 135 155
N M8X 1.25 M8 1.25 M10X 1.5 MI12X 1.75 M16X2 M20X2.5
P 14 14 18 21 27 33
S 7 8 9 10 12 14
T 14+0.2 16+0.2 20+0.2 23+0.2 28+0.2 33.5+0.3
u 12 14 17 19 24 30

CPDP02- 372 ______“_
At (mm) 101 121
RE  T:TRRAEL (kg) 0.7 0.8 1.0 0.9 1.1

ceoposfziz 10 ] 15 ] 20 | 30 ] 4 | s ] 60 ] 70 ]
At (mm) 70.5 85.5 105.5 125.5
BRE  T:TUAREL (kg) 0.9 11 13 1.5

——————m_—mm

At (mm) 109 129 149
BiE  T:TUAREL kg) 1.2 14 17 j1%0) 2.2

[ ceopio-fsiz ] 10 ] 20 | 30 | 40 J 0 | 60 | 70 [ 8 ] 90 ] 100 ]

At (mm) 88.5 108.5 128.5 148.5 168.5
BE T:TURREL (ke) 2.1 2.4 2.7 31 34

_____“_““_

At (mm) 116 136 156 176
FRE  T:TUAREL (kg) 3.3 3.8 4.3 4.7 5.2

P Ceorasise |20 | 0 | 40 | 50 | 60 | 70 ] s | s | 100 | 110

At (mm) 1155 1355 155.5 175.5 195.5
RE  T:TUEMES ko) 6.3 7.1 7.8 8.6 9.4

(B2 wepR )

" SMERSTE 3
H 7/ \ =
------------------- CPDP 02/04/06/10/16/25 —— 17#8 M
L AB
oT
™
o
+
Eﬁ
N == [lad
= . AM iR,
N THNEE o
] o s 2. RIGRICHIHIE RR TiES R
1 CPDPL-LIPE TG HEHIE o
£
! <
|
i
ACHRE
(mm)
[ s | CPDP02-CIM CPDP04-[IM CPDP06-CIM CPDP10-CIM CPDP16-CIM CPDP25-CIM
M 10.5 115 12,5 135 155
N M12x1.25 M14X1.5 M16X 1.5 M20X 1.5 M24X1.5 M30X 1.5
P 20 25 275 30 35 45
S 7 8 9 10 12 14
T 14+0.2 16+0.2 20+0.2 23+0.2 28+0.2 33.5+0.3
u 12 14 17 19 24 30

CPDP02- 712 ______-i__

At (mm) 101 121 141
& M:TURIMEL (ke) 0.7 0.8 1.0 11

cpoposfziz ] 10 ] 15 | 20 ] 30 ] 40 ] s ] 6 ] 70 ]
At (mm) 95.5 110.5 130.5 150.5
FE  M:TimIMEL (kg) 1.0 11 13 1.5

[ cpopos-f3i2 ] 10 ] 15 | 20 | 30 [ 40 | 50 ] 60 | 70 | 80 ] 90 ]

At (mm) 101.5 116.5 136.5 156.5 176.5
Bi&E  M:TmsMEL (kg) 13 15 17 2.0 23

[ cpopio-f3iz ] 10 ] 20 | 30 | 40 [ 50 | 6 ] 70 | 80 ] o0 ] 100 ]

At (mm) 118.5 138.5 158.5 178.5 198.5
BE  M:THIMEL (ke) 2.2 2.5 2.8 32 39

10 f 20 J 3 | 4 | s f 6 J 70 ] 8 | 90 |
At (mm) 131 151 171 191 211
RE M TMES (kg) 3.5 4.0 44 49 5.4

o5 | 20 | 30 | 40 | 50 | 60 | 70 | s | S0 | 100 | 10

At (mm) 160.5 180.5 200.5 220.5 240.5
& M:TURIMEL (ke) 6.6 14 8.2 9.0 9.7

i£2dddO 1°PoN D

( wod dwe)dedoymmm: EEEL Ay +)2XAVD )




SHEELEAT (LiEzst mapd )

1| = — - = ap =
BERT SMERSTE 4 BE £ E
b
CPDP 06 P E JW [ cpopo4-f72 | 10 | 15 ] 20 | 30 | 4 | s | e | 70
S | prmg ) 6.3 9.4 126 18.8 25.1 314 37.7 44.0 S
i /i ==\
o D #i (cm?) 45 6.8 9.0 136 18.1 226 27.1 317 o
Q CA (mm) 23 23 38 38 58 58 78 78 Q.
e EFR=ZH NI E &L CB (mm) 13 8 18 8 18 8 18 8 o
CC (mm) 10
n CD (mm M6X1:R11 n
. s 1 G5 TSR B M — ’ o
ics 1772 (mm) i85 TR i85 M PE: Rk ) 09 11 13 15
U B 2 TRkl 0.9 1.1 13 15 U
hY N/ -
) 02 10 15 20 30 40 50 P TRiw T 3 ME: Tty 0.9 11 13 15 =
o 04 10 15 20 30 40 50 60 70 A = o
i) —rrrE . Nlco ;?5 S ceopoe-f7%2 | 10 ] 15} 20 | 30 ] 40 | so | e | 70 i
= 06 T Thilm N HRLY E AT E - i g TECE) 8.8 133 17.7 26.5 353 442 53.0 61.9 =
~ 4 o p—
10 10 20 30 40 50 60 70 80 AR oCC || HI (cm?) 5.7 8.5 11.4 17.0 2.7 28.4 34.1 39.8
CA (mm) 23 23 38 38 58 58 78 78
A 1 ATIRIBEHNMERRTIES CB (mm) 13 8 18 8 18 8 18 8
16 10 20 30 40 50 60 70 80 TR oMLy & 1 AT
M )\ = ﬁ;m*g\ 9hﬁ;Rqo CC (mm) 10
e Ak —
25 20 30 40 50 60 80 90 FAE 2 1%’;;*;%% _— €D (mm) M6X 1K1
: - WmIRRR. PE: T (ke) 12 12 14 14 17 17 1.9 1.9
= BB TR 12 12 14 14 17 17 1.9 1.9
¥ - 1% [=]
HUERIIIIRER VE: Tl 13 13 15 1.4 17 1.7 2.0 2.0
ceopio-f7%2 | 10 ] 20 |} 3 | 4 ] s | e | 70 ] 8 ]
fERHI S g B 14.1 28.1 422 56.3 70.4 84.4 98.5 1126
’ $1 (cm?) 10.3 20.6 309 412 515 61.8 72.1 824
CA (mm 28 28 48 48 68 68 88 88
/R e P P P p P P (mm) 2\
me COPROJE CPOPMOE CPOPOGLE CPOPIOCE CPOPISCLE  CPOPISLIE CB (mm) 18 8 18 8 18 8 18 8
Ia) B CC (mm) 12 )
4&; SHETBES % PE: T (ke) 22 2.1 2.5 25 2.8 2.8 3.2 3.1 §
A 1 (kN) 2.0 3.2 4.0 7.2 123 20.0 BB TRk 22 2.1 2.5 25 2.8 2.8 3.2 3.1 2
# M- T g 22 22 26 25 2.9 2.9 3.2 3.2 i
Eﬁ L SHELRR (mm) 25 30 35 44 56 70 E‘)Hé
Xl HIE (2EI8) ceopi6-f72 | 10 | 20 | 3 | 4 | s | e | 70 | 8 Al
s EFFHE (mm) 16 18 2 25 30 35 girmg T (em) 235 47.0 70.5 94.0 117.5 141.0 164.5 188.0 s
7 5==}
§ $1 (cm?) 176 35.1 52.7 70.2 87.8 105.4 1229 140.5 é
> 1N EATE (mm) 8 10 10 12 12 16 CA (mm) 28 28 48 48 68 68 88 88 >
© CB (mm) 18 8 18 8 18 8 18 8 S
0O . N Q
S L # (cm?) 4.4 6.3 8.8 141 235 36.5 CC (mm) 2 =
= SHETERR CD (mm) M8X1.25 %15 =
o " o
S — 55 s . 103 176 a6 PE: T (ke) 3.4 3.3 3.9 3.8 4.4 43 49 4.8 5]
ROE TEHEAEk 3.4 33 3.9 3.8 43 43 48 4.8
3 R OB TRk 3
\_ o M- T 3.5 3.4 3.9 3.9 44 4.4 49 4.9 W,
% HRERT MPaltBYRE I,
CPDP02- 1512 10 15 20 30 40 50 [ 60 | [ s | 90
e (cm?) 44 6.6 8.8 132 176 220 e (M) 72.9 109.4 1459 182.4 218.8 255.3 291.8 3283
SHEIR = HEIRE
#i (cm?) 2.9 43 5.8 8.7 116 145 #i (cm?) 57.2 85.8 1143 142.9 1715 200.1 228.7 257.3
CA (mm) 23 23 38 38 58 58 CA (mm) 38 38 58 58 78 78 98 98
CB (mm) 13 8 18 8 18 8 CB (mm) 18 8 18 8 18 8 18 8
CC (mm) 8 CC (mm) 16
D (mm) M5%0.8 58 D (mm) M10X 1.5 %18
PE: T H(ke) 0.7 0.7 0.8 0.8 0.9 0.9 PE: T #(ke) 6.4 6.3 7.2 7.1 8.0 7.9 8.8 8.7
OB TRk 0.7 0.7 0.8 0.8 0.9 0.9 BB TEmssEl 6.3 6.2 7.2 7.0 7.9 7.8 8.7 8.7

177 NE: T 0.7 0.7 0.8 0.8 1.0 1.0 NE: T &shg) 6.6 6.6 7.4 7.4 8.3 8.2 9.1 9.0



